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FH: AYE M @58 AT JAE(BALZE/AK)

e M=eis NE 2 B |4 (&3 d)
2H-FH-GQ(33) - HEANY - BES Ol by 3 Husz

Xl = o 81,418,215 81,403,684 14,531

X 10,454,000 10,454,000 0

Il 15,152,406 15,152,433 A27

=S 55,811,809 55,797,251 14,558

AYsE M #HEE LAT AEH(SHL2E/AK) 81,359,894 81,359,930 A36

X 10,454,000 10,454,000 0

Il 15,152,406 15,152,433 A27

& 55,753,488 55,753,497 A9

s N & &H =4 33,027,001 33,027,037 A36

Il 756,555 756,582 A27

=S 32,270,446 32,270,455 A9

ZOHIMENEXEX IXI(Z)(=2) 241,272 241,290 A18

2l 120,636 120,645 A9

= 120,636 120,645 A9

307 2I2t0| A 241,272 241,290 A18

pli 120,636 120,645 A9

=3 120,636 120,645 A9

02 UAHFAANHEE 241,212 241,290 A18

OZMIMEHMISX =X WX (SEMHAMZS!) 241,272 241,290 A18

Jl 120,636 120,645 A9

=S 120,636 120,645 A9

QU MEMEXIZX BHXI(AIZ)(=12) 241,272 241,290 A18

2l 241,212 241,290 A18

308 A XIEHHSO0IA 241,272 241,290 A18

Jl 241,272 241,290 A18

01 AIXNHHMBAEES 241,212 241,290 A18

OO MEHMSX =X BIXI(AIZ) 241,212 241,290 A18

Il 241,212 241,290 A18

Hegs(Hsh) (S22 /A=) 17,777 3,210 14,567

BEXE 17,777 3,210 14,567

HERE 3NEXx= g 17,777 3,210 14,567

802 Bt&3J|E 17,777 3,210 14,567

0l [nEx=eEs 17,777 3,210 14,567

©'13~'16 MEHMSAL X 1,504 0 1,504

©'158 &M2R2 MFUE Ha XJ 13,037 0 13,037

O'16¥ OZAMEMIUS X 26 0 26
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